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EXTENSÃO DA RUA: 695,00 m

LARGURA DO PASSEIO: 2,50 m

ÁREA DO PASSEIO PÚBLICO: 3.475,00 m²

RESUMO PAVIMENTAÇÃO

LEGENDA

PAVIMENTAÇÃO EM

CONCRETO

1/1000

Proprietário

ÁreaEscala
Data

Município de Canela

PREFEITURA

CANELA

DE

Rua Dona Carlinda, n. 455

MUNICIPAL

Desenho

Planta Baixa

PRANCHA

Telefone - 54 3282 4077

ADM.: Constantino Orsolin

Gilberto da Conceição Cezar
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CANELA

JUNHO/2019

02/02

Projeto

RUA ADALBERTO WORTMANN

3.475,00 m2

Arqª Patricia Paiva Michelon  

CAU A 46 301-9 
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